26 (5 = V6) - (V2 -2) 7 47 HES fe 0 o

2\/6><\/L§—2\/€>< V(_S—\/iix4\/§+\/i§x2
=2V2-12-4a+a\2

= V2(2+a)-12-4a

a7t =7 fisid a+2=0

SLa=-2




2. 2a+8V3-T-dav3 9 glo] §el57t S Sk fE4 a0 g

Do @1 @2 @ 3 ® 4

B

2a+8V3-T-4aV3=2a~-7+ (8—4a)V3

Fo13l Ao] {7t E7] A= 8 —4a 9 gko] 0 o] Hojof
gt

8—4a =0 La=2




3(3—av2) - V3(aV3 - 2V6) & 13

L O

St= F840 a 9 #E2 otd?

9-3aV2-3a+2V18
= (9~ 3a) + (6 - 3a) V2

Aol =7] fIaiA 2ot gloj A oF gt
L. 6-3a=0,a=2




4. (x-y)?-12x+12y+36 = (x+ay+b)>? L ™, = a, bS] F ab 2]
&

® 2 @1 @) @11 ©16

B ~

x—y=A= 2| gs}H
A?2-12A+36=(A-6)2=(x—y—-6)>
Ta=-1, b=-6

. ab=26




@ x(x-6) @ (x+2)(x-6)
@ (x-4)(x+2) ® x(x-4)

x-2=1% 2|&stdA
2-2t-8=(t+2)(t-4) = x(x-6)




@ a2
+ b2
-9

ONE
—_bp?
-9

@ a*
Ny
9 -9

O%
-b* +
6b-9

® a®
—-b? +
6b+ 9

- il

fife)

ol

b
_3—
—A 2 X

(

1)

0
\{d

a2
2 _ (b2 )
a_bz+;b+%
b
-9




O 8 @ 9 ® 10 ®)11

® 12

B

i} Algete] JA g F 2o F2 -1, F 2
m2tA -1, =5 7Fx* + mx+n =0 2 F o]t}
-m=(-1)+(-5)=-6,n=(-1)x(=5) =5
m=6,n=>5

“m+n=11




8.

OIAPI A 42 4 3x—3 =0 O 5 2 m, n o2k T ), (m—n)?

o ke

® -6 @0 ® 3 @ 18 ®)21

< Ago BA =R H
m+n=-3, mn=-3
(m-n)?=(m+n)?-4mn=9+12 =21




B ol 2 x4 =09 5 2ol 5, = a4 pr ol T
o, S4— S5+ 56 2 &S F5HH?

kR

O 241 @ 242 ® 243 @ 244 @245

B

-x-4=0%x=0a, x=8HY
@ -a-4=0,0a*-a=4

B -B-4=0,p-=4
a+pB=1 a8=-4

@ +p2=(a+pB)?-2a8=9

ot + B = (a2 + B2)? — 20282

=92 - 2% (—4)% = 49

Sy —Ss+Sg=a*+pt—a® - +af +°
=a*(l-a+a®) +p(1-B+5)
=a*(1+4)+p*(1+4)

=5(a* + %) =5x49 = 245




10.

o
B
T
i
o
>,
=

DA 2 +ax+b =09 F 2 A7h4 o], F Zo] 22
<o 3l W, a+ b O] F2?

@-3 O3 @) ® 5

% e
|

F2Zx x+42otH 3x=x+4

S X=2

oA T 22 2,6 |t

2, 6 25 202 2+ax+b =09 g
a=-8, b=12 7} et}

et a+ b= -8+ 12 = 4 o[t}

ol

Fof Asishu




11. P -(m+2)x+2m=09 F 2 H7F2 : 3L o, m o] FH27(H,

m 2 4)

4
®-2 @0 @; @ ® 2

. ~
T 29 v|7t 2: 30|82 & & 747} 2k, 3k 2 &AL
T2 m+2=2k+3k

m=5k-2---0Q

5 29 H 2m = 2k x 3k

S 2m=6k*---©

99 A& Ol tdstd

5k — 2 = 3k?

3k -5k +2=0

(3k—2)(k—1) =0

k=1

Som=3




¥2—dx+3 =09 T 2] A7} o] A A 252 —5x+k = 0
o] 3 2w, k & = FshA?

@ 1 @Dz ® 3 @ -3 ® -4

. ‘
A (x-1)(x-3) =0°|BR yr=1Emx=3

waba] = 2] =3 -1 =2 ot}
x=27F2x® —5x+ k=0 2] 3t Zo]B =2 tjU3tH

2(2)2-5(2) +k=0

k=2




13.

A 104 arbA ) gre W o gqag e art

2ol 200 Y o, n o] 322

@ 15 @ 17 ® 19 @20 ® 21

B

(B+6+T++n)=0+2++n-(1+2+3+4)

”(”;L D _10=2000]22

n(n+1) =210
n?+n—-420=0
(n=20)(n+21)=0
n>0°]B% p=200]|t},




—
=
i)
oo
Hz
N
i
=
Y
_O|L
rr
_>|~1_4
rf
>
N
lo,
=
Tlo
-9

® 11 @ 12 ® 13 @ 14

n(n+1)
2

(n—15)(n + 16) = 240

sn=15(-n>0)

= 1209]B2 n? 4+ n—240 = 0 °|t}.




A 156 n7kA] 9] ol 4650] & o, n o] F27 (F, 15E n
o] & - n+1)
7419l g 5—)
@ 25 @ 26 ® 28 @30 ® 32
”("; D _ se50)m2

n?+n-930=0
(n-30)(n+31) =0
~n=30(n>0)




